Mean Spectrum
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RMS Spectrum
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bad:239=0.058% A (ﬂ) z = 1.39289
u = —0.086(34) x = 1.76(20) => 1.76(20)
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Continuum Lightcurve

rm186 c5
T T LI B L R B B AL |
lo
G
~ o
St 4
o
o o N
4
=2
=I
o E
Sk 4
[ o
=N
15108 ) 19644 ) 25548 ) 33228 ) 43208 !
7000 7500 8000 8500 9000
MJD — 2450000
BLR Lightcurve
rm186
T T LI B L R B B AL |
o 4
© | 4
© 4
<+ 4
N E P P T R T R R 1]
7000 7500 8000 8500 9000
MJD — 2450000
Corrections
w rm186
L LI B L R B B AL |
o 4
] P PR R T S SR [ S S S R S S T |
e 7000 7500 8000 8500 9000
MJD — 2450000
1 = 0.24(1.23) x = 1.114(57) => 1.114(57)
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